ED-103

M.Com. 1st Semester
Examination, March-April 2021

Paper - III

Income Tax Law and Accounts

Time : Three Hours] [Maximum Marks : 80
de gt gl & SR AW wf Tl Fosw
peic i
Note : Answer all questions. All questions carry equal
marks.
TS / Unit-I

1. UHl dielg ™ &t "Gl I GUIRT Sl Fd
3 H S SIS S
Explain such sixteen items which are not
mcluded in total income.

374l / OR
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(2)

(@) X T fagsit =mfes &1 @@ 1998 @
yfgad of@ # 105 fe7 & fow wRa
A ¥ w-fAuior Id 2019-20 &
fu 3wt framm frafa sare =fe
() X 9N A * Tl T, IR
(i) X 1939 & g1 H a1 gom o

X is a foreign citizen, since 1998, he
comes to India every year in the month
of April for 105 days. Find out the
residential status of X for the
Assessment Year 2019-20, if

(/) X is not a person of Indian origin, and

(if) X was born in Poona in 1939.

(b) THo T Jo THo W AANINEH TAYLH
1.5.2012 @ 9RA ATl I8 TAR
9 o el W R 1.5.2015 W
FTARY el TRETl 98 1.4.2016 I
IRd 999 3T 3R 1.12.2016 W
Fo ko T TATI 20.1.2019 hl I
qUE ¥Rd 9w feam Em

F-fAglor a9 2019-20 & faAw STt
famE  fafa sTaET |
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(3)

Mr. Maitra a citizen of UK came to
India for the first time on 1.5.2012. He
stayed here without any break for three
years and left for Bangladesh on
1.5.2015. He returned to India on
1.4.2016 and went back to the UK on
1.12.2016. He was posted back to India
on 20.1.2019.

Determine his residential status for the
Assessment Year 2019-20.

1S / Unit-IT

2. o &A@ 1 ®E, 2011 ¥ W@l H
T e fa e ¥ FEka ¥ oww
% 8,000 - 400 - 16,000 - 700 - 23,000 &
JTEE W ¥ dW IY W A dad
20% WHeWE wdl fooiar ® fSEd @ oemen
IHh  SAaHR Tl el faq  Sret
ST § 1 9% yEif gifague wue § et
Ia dAT MY HEME O™ HT 12%  SAVSH
Har & foad sEe e o sReR o
3VEH Al T TMaes W e o T
% fogae & fau s yifagwe wue ¥
740,000 & RO forar S99 ¥ 39 Taay
H 34,000 1 A AT daq H HIA
w0 TRl 39 A & WiHa 9 T
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(4)

fRe 4 gad geH ot gfawn faelt g8 ®
et sfaa feanm 744,000 =ifies
39 T 600 FfA® WAl WAl st 9AE
feu 7400 gfqare fafecsr v« 99 < 400
yfaae e T o @ R

I 1 faa=r, 2018 I TSR H
THGIHOT h &I H T 1,20,000 Y g3,
STO10 HE W TSR A WIAN HH A
F e % feml ¥ oesEr fo sifa
JI% g8 H a1 & faw 30 fea &
SAhIY hT YRR AT

Y TH HCl qA TH WEC H g
o e N YGE H 7150 Gique e
TR YTAE Bl €1 SH Th B B HI
ff e 4 s we S wEm
%T@ﬁ%|ﬁ:roaqﬁ?rﬁ3€raér
1L 1 T O = 3 L
g e fau a® &% w9
gfd ®F 9fd HE =TI T 600

fE

s
M w®
f <@ R
g
F-FuRe a6 2019-20 & fauw o s1fa
H HL I ddd hi TMUET HIGT qAT TS
qa difee fe aq7 gwafud HE & ST
e % W fod @ BT T

EE
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(3)

Mr. Anil is working in a Jute mill company
in Kolkata since 1st March, 2011. He is in
the grade pay of ¥ 8,000-400—- 16,000 —
700 — 23,000 plus a Dearness Allowance @
20% of his basic pay, half of which enters
into retirement benefits. He contributess 12%
of his salary and one-half Dearness
Allowance to recognised Provident Fund to
which his employer contributes an equal
amount. During the previous year, he took
a loan of ¥ 40,000 from his Provident Fund
for his daughter's marriage out of which he
repaid ¥ 4,000 during the year has been of
deduction from his salary.

He has been provided with rent free house
owned by the Mill, the fair rent of which
is 44,000 per annum. He 1is getting

Conveyance Allowance of ¥ 600 per month
for private purpose, Medical Allowance of
¥ 400 per month and Servant Allowance of

¥ 400 per month.

He received ¥ 1,20,000 for encashment of
leave on Ist September, 2018 being 10
months leave not availed of. As per the
rules of the Company Mr. Anil was entitled
to 30 days leave for every year of service.
He had been provided with the facility of a
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(6)

Gardener and a Cook, who are each paid
¥ 150 per month by the employer. He is
also provided with a small car by the
employer for official and private use. Two
children of Mr. Anil are studying in the
institution run by the employer for which
no fees are paid. Expenditure per student

per month is ¥ 600.

Compute Mr. Anil’s taxable salary for the
Assessment  Year 2019-20 assuming that
salary is done on the first day of the next

month.

3744l / OR

‘giftfer g’ w1 gl ST qer weeH
Tmfa &t g fuife & & fau aftes
Td H ¥ et 9 arel W@igd sl
1 FUH RIS

Define ‘annual value’ and state the deductions
that are allowed from the annual value in
computing the income from house property.

TS / Unit-111

3. MUR ki 3™ HI AT &EH T STIR
sifufram, 1961 & o TRd: wlHd
Hffadl hl HHART |
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Explain

clearly

the

(7)

deductions

that are

expressly allowed in computing the income
from the business under the Income Tax Act,

1961.
37947 / OR
() o TIAE = =6 2018-19 # wwafa=l
w1 faspt =1 = faeror fean .
ST e e
fasha geg | ¥ 7,00,000( % 18,24,000 | T 5,00,000
CERRCIECE] N ¥ 24,000 =
I i AN | T 1,29,000| ¥ 2,26,000| ¥ 1,48,000
it 1 @ | 2007-08 | 2004-05 | 2009-10

394 1.3.2009 & TH HHM T 15,00,000
H TS W AT IS A HY T
SifST Afg 2004-05, 2007-08, 2009-10
qeT 2018-19 1 N Thifd H=ehich
113, 129, 148 AT 280 T |

ShHRI:

Mr.

Hanuman Submits

the following

particulars about the sale of assets during
the year 2018-19:
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(8)

Jewellery

Plot Gold

Sales price

Expenses on sale Nil
Cost of acquisition | ¥ 1,29,000

Year of acquisition

¥ 7,00,000|% 18,24,000 (¥ 5,00,000

724,000 Nil
¥2,26,000 [ ¥ 1,48,000
2007-08 2004-05 2009-10

He has purchased a house for ¥ 15,00,000
on 1.3.2019. Calculate the amount of
taxable capital gain if Cost Inflation
Index (CII) for 2004-05, 2007-08, 2009-
10 and 2018-19 are 113, 129, 148 and
280 respectively.

(b) T el 9§ ‘e WAl | e W
TOTHT Tﬁﬁl‘Q:
(/) Tl ¥ 730,000 STER H el
(i) IS 9 ¥ ¥ 1,00,000 IR H et |
(i) 94 T9a® W ¥ 2,40,000 ITER H

et |

(iv) YRG H A’ 9RdE ¥ ¥ 80,000

IR H e

(v) 3T T 9 728,000 SWER H et |
(vi)y A1 ¥ ¥ 1,00,000 ® TR IWR H

e
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(9)

Calculate ‘income from other sources’
from the information given below :

(/) Received ¥ 30,000 as a gift from his
friends.

(if) Received ¥ 1,00,000 as a gift from
his elder brother.

(iii) Received T 2,40,000 as a gift on his
marriage.

(iv) Received ¥ 80,000 as a gift from his
NRI friend.

(v) Gift of ¥ 28,000 received from his
another friend.

(vi) Gift of a necklace worth ¥ 1,00,000
from his mother.

gh1s / Unit-IV
4. (q) TE I AW o SH A1 37! I(d b
YEYMl . THSEY |

Explain the provisions regarding carry-
forward and set-off of losses.

() T§ IR fou 7w gHl W fafey A
R 50% I TRd § |
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(10)

Write four such donations for which 50%
deduction are allowed.

374l / OR

foiig a9 2018-19 &1 4 TIHATA &t A
qo1 3= faeno = ©

z
() I H AT I 3,50,000
(i) TR St oy 12,000
(iii) SrefepTe gSt oy 40,000
(iv) @Efy §E W dw § S 10,000
(v) @ 9 " (FHhd) 25,000
(vi)y Tvea sufga st fafec

™ Y 15,000
(vii) T &=q 99 VI Fr™

T faf@m 10,000
(viii) =0 T A = &l

I% T <M 25,000

(ix) WESHS Fifasve HUE
Y 3fyeH 15,000

F-fERo 96 2019-20 & fau Fa sm
TYT SIS ! AT HiTIC |
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(11)

Following are the income and other
particulars of Shri  Shyamlal for the
Financial Year 2018-19:

?

(/i) Taxable income from Salary 3,50,000
(if)  Short-term Capital Gains 12,000
(iiif) Long-term Capital Gains 40,000
(iv) Bank interest on time deposits 10,000
(v) Lottery income (Gross) 25,000

(vi) Expenditure on medical
treatment of a disabled
dependent 15,000

(vii) Investment in National Savings
Certificate (VIII issue) 10,000

(viii) Donation to Indira Gandhi
Memorial Trust by Cheque 25,000

(ix) Contribution to Public
Provident Fund 15,000

Compute the total income and income-tax for
the Assessment Year 2019-20

T&1e / Unit-V

5. TTRA T dele @ % HwWeA den
ST hT GO hiTSIT |
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(12)

Describe how the Income Tax Appellate
Tribunal 1is constituted and discuss its
functions.

3744l / OR

TR e faum o fea-foea gifemfat
&1 o9 fwan T ® dun 394 | e ¥ 2

What are the various authorities envisaged in
the Indian Income Tax law and what are their
functions ?
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